
WATER/STEAM/INLET TAPS BAR-HO-PUB

Positions without LF code no.: upon request

<T1

PAVONI
T1>



Position LF code no. Description
1 < 1324400 TAP SPINDLE
2 < 5038097 TAP SHUTTER CONTROL PIN
3 < 1186900 O-RING 02015 VITON
5 < 1324158 WATER/STEAM TAP PIN
6 < 1186985 FLAT EPDM GASKET ø 15x6x6 mm
8 < 3186183 O-RING 0128 EPDM

11 < 1348036 NUT ø 3/8" WRENCH 21x6mm
12 < 5011730 STEAM/WATER TAP KNOB
13 < 1348600 COMPLETE STEAM TAP
14 < 1449451 STEAM PIPE COMPLETE
16 < 1186352 O-RING 02050 EPDM
17 < 1250534 SPRING ø 12x22 mm
18 < 1186988 STEAM TAP JOINT BUSHING
21 < 1186805 O-RING 0115 EPDM
22 < 1349367 WATER/STEAM PIPE COUPLING
25 < 5030208 PIN ø 1.5 mm FOR TAP
31 < 1349362 NUT ø 1/4"
32 < 1241157 STEAM/WATER TAP KNOB
33 < 1241613 WATER CAP FOR KNOB
34 < 1241412 STEAM CAP FOR KNOB
35 < 1449452 FITTING FOR WATER PIPE
36 < 1449453 WATER PIPE NOZZLE
40 < 1349362 NUT ø 1/4"
44 < 1186984 RUBBERPIECE HOLDER FOR TAP
45 < 1186983 FLAT GASKET VITON ø 15x7x3 mm
46 < 3186183 O-RING 0128 EPDM
48 < 1348036 NUT ø 3/8" WRENCH 21x6mm
49 < 1186900 O-RING 02015 VITON
60 < 1348036 NUT ø 3/8" WRENCH 21x6mm
62 < 1186983 FLAT GASKET VITON ø 15x7x3 mm
63 < 1186514 O-RING 02015 SILICON
64 < 1186983 FLAT GASKET VITON ø 15x7x3 mm
65 < 1186984 RUBBERPIECE HOLDER FOR TAP
67 < 1786231 FLAT GASKET EPDM ø 24x15x3 mm
68 < 1449317 WATER PIPE NOZZLE
69 < 1250536 SPRING ø 13x42 mm
70 < 3186181 O-RING 03068 EPDM
73 < 3348186 WATER INLET TAP
75 < 3186181 O-RING 03068 EPDM
76 < 1250536 SPRING ø 13x42 mm
77 < 1523431 INLET VALVE
78 < 1186514 O-RING 02015 SILICON
79 < 1324106 TAP SPINDLE PUB/BAR

<T1

PAVONI
T1>


